Ś÷-Ż **AP STATE RANKING TABLE TENNIS TOURNAMENT** 2024



VISAKHAPATNAM





27TH – 29TH SEPTEMBER

VENUE: GITAM UNIVERSITY, VISAKHAPATNAM

Hosted by



Organized by



VISAKHAPATNAM DISTRICT TABLE TENNIS ASSOCIATION

Under the Auspices of

ANDHRA PRADESH TABLE TENNIS ASSOCIATION



ORGANISING COMMITTEE

Chairman J.K. NAYAK

Vice President , Orissa Stevedores Ltd.

President Dr. Vijay Kumar Upadhyay

Director of Sports, Gitam

Secretary

Dr. D.V.S.Y. SHARMA B.B. Umpire, ITTF LIC of India

CHIEF REFEREE

Sri D S R Kumar Blue Badge Umpire, Qualified National Referee

ASSISTANT REFEREES Sri P.Venu Gopala Rao (NIS)

FOP INCHARGE Sri A V S Singaraju

Vice Presidents

Dr. A. Sarvabowma K. V. S. N. Raju M. V. Manikyalu S. Madhava Swamy N. Shanmukha Rao

Joint Secretaries T. Srikanth Raju V. S. N. Murthy E. V. Prasad

Life President

M. V. S. Sarma Former MLC, North Andhra

Patron

E. A. Raju Director of sports, GVMC

Advisor

EC MEMBERS

K. V. M. M. Patro Padma Swamynathan T. S. Ananda Rao L. Kanna Babu S Rama Rao Y. Rohit

V. Venkateswara Rao G.V.S. Rama Rao K. Sridhar Raju M. Ravi Kumar V. Dhana Raju P.V. Chalapathi S. Prabhakar Rao

K. Srikrishna Murthy

Treasurer Y. S. Sekhar D. S. V. V. Satish Y. Ashish Paul

Smt. Nirmala Smt. P. Varalakshmi

TOURNAMENT COMMITTEE

Sri K V S Prakash **President, APTTA** *Sri P Viswanath* Secretary, APTTA

MEMBERS

Sri Ch. Vijay Prakash, Senior Vice President Sri J.K.Naik, Senior Vice President Sri N.V.Gurudat, Senior Vice President Sri Sankar, Senior Vice President Sri V Bhaskar Ram, Vice President Dr. Somasekhar Reddy, Vice President Dr R.Mamatha, Vice President Sri J.V.V.Appa Reddy, Vice President Sri B. Muralidhara Rao, Vice President



Dr. D.V.S.Y.Sarma, Vice President Sri P.V.Pandu Ranga Rao, Treasurer Sri K.Bala Ram, Joint Secretary Sri P. Venugopala Rao, Joint Secretary Sri B.Srinivas, Joint Secretary Sri Kesava Reddy, Executive Member Sri Kesava Reddy, Executive Member Sri R.Krishna Veni, Executive Member Sri A.V.S.Singa Raju, Executive Member Sri K.Satyanarayana (Bheemu), Executive Member Sri Asif Khan, Executive Member Sri S.K.Gousia Pyari, Executive Member Sri J.Rama Sita, Executive Member Sri L.M.S. Jayaraju, Executive Member



Last Date for Entries 15th Sept

Last Date for Withdrawal

16th Sept

Open Draws @ Sri Prakash Synergy School, Peddapuram on 20th Sept

EVENTS

MEN **JUNIOR BOYS (UNDER-19) JUNIOR BOYS (UNDER-17) SUB JUNIOR BOYS (UNDER-15) CADET BOYS (UNDER -13) HOPES BOYS (UNDER -11)**

WOMEN JUNIOR GIRLS (UNDER-19) JUNIOR GIRLS (UNDER-17) SUB JUNIOR GIRLS (UNDER-15) CADET GIRLS (UNDER-13) HOPES GIRLS (UNDER-11)

PRIZE MONEY

EVENTS.	GOLD.	SILVER.	BRONZE.
Men	4000	3000	2*1000
Women	4000	3000	2*1000
Youth Boys(U-19)	3000	2000	2*1000
Youth Girls(U-19)	3000	2000	2*1000
Junior Boys(U-17)	3000	2000	2*1000
Junior Girls(U-17)	3000	2000	2*1000
Sub Junior Boys(U-15)	2000	1500	2*750
Sub Junior Girls(U-15)	2000	1500	2*750
Cadet Boys(U-13)	2000	1500	2*750
Cadet Girls(U-13)	2000	1500	2*750
Mini Cadet Boys(U-11)	1000	750	2*500
Mini Cadet Girls(U-11)	1000	750	2*500
Total 71,500	30,000	21,500	20,000





RULES AND REGULATIONS

ENTRIES TO BE SENT TO APTTA.IN. NO ENTRIES WILL BE PERMITTED AFTER THE DEADLINE.

FORMAT FOR SENDING ENTRIES WILL BE SHARED TO ALL COACHES. ALL THE PARTICIPANT PLAYERS SHOULD HAVE REGISTERED WITH APTTA.

ENTRIES OF UNREGISTERED PLAYERS WILL NOT BE ACCEPTED UNLESS PLAYERS PAY A REGISTRATION FEE OF RS. 1000 /- OR RENEWAL FEE OF RS. 700/- FOR THE YEAR 2024. THIS MAY BE PAID ALONG WITH THE ENTRY FEE ONLY.

THE ENTRY FEE FOR EACH CATEGORY IS RS 500/- TO BE PAID VIA PHONE PAY OR QR CODE

BOARDING & LODGING CAN BE PROVIDED ON PAYMENT. LIMITED ACCOMMODATION IN THE UNIVERSITY IS AVAILABLE FOR PLAYERS, COACHES AND LADY PARENTS ON FIRST CUM FIRST SERVE BASIS.

PER HEAD CHARGES: ACCOMMODATION & BREAKFAST & LUNCH: RS.500/-PER DAY.

FOR BOOKING YOUR ACCOMMODATION CONTACT: L KANNA BABU (7842342377) ON OR BEFORE 15TH SEPTEMBER.

THE TENTATIVE SCHEDULE WILL BE AS FOLLOWS

27 SEPT:- MEN , WOMEN , U 17 , U 19 28 SEPT:- U 11 , U 13, U 15, U 17, U 19, MEN, WOMEN 29 SEPT:- U II , U 13 , U 15

ONLY NON MARKING SHOES ALLOWED PARENTS ARE NOT ALLOWED IN PLAYING ARENA





RULES AND REGULATIONS

ONLY REGISTERED PLAYERS OF THE APTTA FOR THE YEAR 2024 CAN PARTICIPATE IN THE CHAMPIONSHIPS

ALL THE MATCHES WILL BE PLAYED IN ACCORDANCE WITH THE RULES AND REGULATIONS FOR REGIONAL CHAMPIONSHIP AS ADOPTED BY TTFI

THE YOUTH BOYS & GIRLS (U-19) EVENTS OPEN ONLY TO THOSE PLAYERS WHO ARE BORN ON OR AFTER 1.1.2006

THE YOUTH BOYS & GIRLS (U-17 JUNIOR) EVENTS OPEN ONLY TO THOSE PLAYERS WHO ARE BORN ON OR AFTER 1.1.2008

THE YOUTH BOYS & GIRLS (U-15 SUB JUNIOR) EVENTS ARE OPEN ONLY TO THOSE PLAYERS WHO ARE BORN ON OR AFTER 1.1.2010

THE YOUTH BOYS & GIRLS (U-13 CADET) EVENTS ARE OPEN ONLY TO THOSE PLAYERS WHO ARE BORN ON OR AFTER 1.1.2012

THE YOUTH BOYS & GIRLS (U-11) EVENTS OPEN ONLY TO THOSE PLAYERS WHO ARE BORN ON OR AFTER 1.1.2014

FOR EVIDENCE OF AGE, PLAYERS SHOULD BRING ORIGINAL DATE OF BIRTH CERTIFICATE ISSUED BY MUNICIPAL CORPORATION/SCHOOL SO THAT IT COULD BE VERIFIED, IF REQUIRED TO DO SO



